Example 2 
	AP 01/01/94 to 31/12/94


	AP 01/01/95 to 31/12/95



	Agreed and assessed CT liability of £20,000


	Surplus ACT of £5,000



	Paid £20,000 on the due date 01/10/95


	Claims under S239(3) ICTA 1988 to carry it back against CT on profits of the previous AP




1. Liability for APE 31/12/94 reduced to £15,000

2. £5,000 tax is repaid on 01/07/96

No interest is due because £20,000, the amount of CT liability disregarding the ACT carry back claim, was paid.

If the company had paid the £20,000 late S87A interest would have been payable from the due date until the date of payment.  Further interest to 01/10/96 would not be due on the £5,000 covered by the ACT carry-back.  S87A is only concerned with tax unpaid at the time of the carry-back.

